
 

 
Installation Instructions: 

Suzuki V-Strom 1000 
 

1. Remove the four bolts shown on the picture.  
 

 

 
2. Put two spacers 24 mm on the same places. 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 

 

 
3. Attach the top racks using M8x60. 

 

 
                         

   
 
4.       Put M6x45 bolts as shown on the picture. 

 

        
                                   

 

 

 

 

 

 

 

 

 

 



 
 

 

5. Place on the bottom side as follow:  
1.  spacer 27,5mm 
2.  the black washer 
3.  Washer M6  
4. Self – Locking Nut  M6 

 

 

 
 

Tight All Bolts! 

 

Max Load In Top Case – 5 kilos ! 

 

ENJOY!!! 

 

BUMOT Motorcycle Luggage 

Ph:+359 887 649 709 

www.bumot.eu 

info@bumot.eu 
 


